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Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

o Jo7-7¥ H T & @ G RF 78 FS TEY T A F O FI-YRaw & FEI-g8 9T
gy
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(2) 2211/(Set : A)
o GUETE ST AT To FHT-YA YT Ha9T [rEI UT To % Sl JT-0H T T F8 T
g siie defcys 7ot & IR T Fbdl ST F 9T T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U o7 % IV 37 @ §d 96 GhAlEd FT o [ G97-v4 [ T @& & Gher % ST 59
T § g 4 qar w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instructions :

() T4 9-9F ¥ B 35 U &I FH F9T SA7ard &

This question paper contains 35 questions in all. All questions are

compulsory.
(i) 9T €& 1§ 20 T 1 3% a IEJTS U 8| MRAER 39 S84 & Ia% i)

Question Nos. 1 to 20 are objective type questions of 1 mark each. Answer

these questions as per instructions.

(iii) 97 €& 21 § 26 T 3 @ AW AlY IAUT U ol T YT B IAX AT
50 § 75 & H o

Question Nos. 21 to 26 are very short answer type questions of 3 marks

each. Answer these questions in about 50 to 75 words each.

2211/(Set : A)



(3) 2211/(Set : A)
(iv) 97 G 27 § 32 T 4 3iH a9 A IAF U 51 TA® U7 H II AT 150
g 7§ fifs

Question Nos. 27 to 32 are short answer type questions of 4 marks each.
Answer these questions in about 150 words each.

(v) YU HEM 33 | 35 T 6 FH @ I ITNT UK 1 UAD T BN IAX AT 200
g=at | i)
Question Nos. 33 to 35 are long answer type questions of 6 marks each.
Answer these questions in about 200 words each.

(vi) B 9l | RS fabed Iued 31 UH Ul § | U Had g% of U7 B o

An internal choice is available in some questions. You have to attempt only

one of the given choice in such questions.
(vii) 9T H TH AT B TH T A B

Attempt all parts of the questions together.

[ TGS 597 |
[ Objective Type Questions ]
78 T g -
Choose correct options :
1. U9 7 & ? ’
(A) STt U TEUF HBT Bl (B) N U% VeI YT 2l
(C) St T @il & B (D) SUEd § ¥ B Tl
What is Management ?
(A) What a Manager does ? (B) Which a subordinates does ?
(C) What a Master does ? (D) None of the above

2211/(Set : A) P.T.O.



(4) 2211/(Set :

2. ‘AR FAAAr el faQw g ?

(A) UsT (B) &l

(C) f@m (D) el @t &t
Personal skills are the unique characteristic of what ?
(A) Profession (B) Art

(C) Science (D) None of these

3. U9Y F TG TET & 69 A b AT B 7
(A) RS (B) &M
(C) gy, FesM & Fgsr (D) |+l & G
Co-ordination is related to which function of Management ?

(A) Planning

(B) Organising
(C) Staffing, Directing and Controlling

(D) All

4. 59 ¥ ¥ oy fhe yeR # Afeat B ey wa g ?

(A) "= (B) ™

(C) (A) T (B) (D) 1 &

Which of the following types of policies do you recommend ?
(A) Strict (B) Soft

(C) Both (A) and (B) (D) None

2211/(Set : A)



(5) 2211/(Set : A)

5. M= ¥ § $I9-41 oA T GHI T T & 7 1
()  Slu=ies (B) ST=RS
(©) (&) T (B) & (D) ® T
Which of the following organisation lasts a long time ?
(A) Formal (B) Informal
(C) Both (A) and (B) (D) None of these
6. AYBR FA (Delegation of Authority) &l JTER T g7 1
(&) BEEHTT (B) et
(C) (A) T (B) &t (D) 99 fquee

What is the basis of Delegation of Authority ?

(A) Centralization (B) Decentralization
(C) Both (A) and (B) (D) Division of Labour
7. g F B H | @H-| O BT e ? 1
(A) o HT AT (B) WA I
(C) et (D) IYHT Gl
Standards should have which of the following properties ?
(A) Worthy to achieve (B) Scalable
(C) Flexible (D) All of the above

2211/(Set : A) P.T.O.



(6) 2211/(Set :
8. NI Jsv 1 HF-91 1 B ?

(A)  geH (B) faam
(C) T (D) gifem
Controlling is which function of management ?
(A) First (B) Second
(C) Third (D) Last
- T iR it & A B
(A) STRERET & ghs (B) olenfe srifa
(C) (A) T (B) &Mt (D) Tagah HHAMA & JaT W Vb
.............. is the merit of internal recruitment.
(A) Increase in motivation (B) Industrial Peace
(C) Both (A) and (B) (D) Stops entry of young employee

10. ST ot & STasee ol © ¢
(A) qW BT B & U (B) ¥ %9 HH & [T
(C) =6 =l & e & fow (D) | Y B & fC
Why working capital is needed ?
(A) To buy Land (B) To buy building

(C) To pay for Daily work (D) To buy machines

11. &= § § 58 = il § s 78 e S @ °

(A) TR fT (B) &Y

(C) IWR (D) Eeemrene fafvaT
2211/(Set : A)



(7) 2211/(Set : A)

Which of the following is not included in Current Assets ?

(A) Cash (B) Stock
(C) Debtors (D) Long term investment
12. =09 7 & & fRpeer e © ? 1
(A) AR (B) s
(C) & M (D) #is =

Dunlop is an example of which of the following ?

(A) Branding (B) Brand
(C) Brand Name (D) Brand Mark
13. oo, F fATerEERd wed 1
(A) Hgfte Giet A (B) dgftc W& HA awl
(C) T&Y F=A (D) {a =N awn

.............. is called a Marketer.

(A) Satisfaction seeker (B) Satisfier
(C) Seller of Goods (D) Seller of services
14. fOemoH & Q. P BT SEAE ol 1
(A) =3 (B) 9™
(C) (A) T (B) A (D)  eaiferer

2211/(Set : A) P.T.O.



(8) 2211/(Set : A)

.............. are required for Advertising.

(A) Expenditure (B) Efforts
(C) Both (A) and (B) (D) Television
15, e, e & faes oy B 1
(A) HEISTS qedi &l SR
B) T ¥ T

(D) IdrE fE F g
.............. is an objection against Advertising.
(A) Disregard for social values

(B) Reduction in price

(C) Knowledge of different products
(D) Improvement in quality of product
0% = A T% YiFg § I T

Answer one word or in one sentence :

16. AR f4s6a &1 H1E g e i 1
State any one feature of personal selling.
17. foopg dad & [l go fafy &1 9 saEd) 1

State any one method of Sales Promotion.

18. ISI &M & T - fafaw 1

Write full form of ISI mark.

2211/(Set : A)



(9) 2211/(Set : A)
=it 77t (19 7 20) ¥ & F&7 _7 7 & - Sf¥%eT (A) T FR (R) T # FT{Es
TEHT A7 [T T [l § & 7@ [Awey & 79T B -

The questions below (19 & 20) consists of two statements : Assertion (A) and

Reason (R). Read the statements carefully and choose the correct option given below :

19. ARFET (A) : [ g9 dadihl @1 SWENT STeIHIcid f9shl @l serdl ad A} AEhl B
AT H & g fopar S R 1
HRO (R) : b G qepii SUHRT FaeR AR GU8 o) &l Jeiad el Bl
AT -
(A) ARFEE (A) T FROT (R) AT T3 & 3R R (R), MBI (A) & T8 /e 2
(B) ARMHYT (A) T FR (R) AW G & ARBT BN (R), SAHBSE (A) @l Tl ARAT &k
2|
(C) SINERN (A) T 8, AfPT IR (R) 3THA Bl
(D) SRR (A) STE B ARBYT &1 (R) 94 2

Assertion (A) : Sales Promotion techniques are used to boost short-term sales

and attract customers.

Reason (R) : Sales Promotion techniques do not influence consumer behaviour
and purchase decisions.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is ture.

2211/(Set : A) P.T.O.



(10) 2211/(Set : A)
20. HAREHE (A) : A BN N ARBR G sfed & g Tew@yel B 1

HROT (R) : 0 ABR & AJHR, IUAERNSA Bl I q&GAl T Al & s G &l
AR & S @A, Sied X TE & U gae ¢l
fwey -
(A) ARHET (A) T BROT (R) AMT TF & AR BN (R), STHHAT (A) I G& AR 2
(B) SIS (A) g BRI (R) Ml 9 8, QAlpd BR (R), SIHBAT (A) P G&l A Tl
2

(C) SR (A) T 8, AfPT IR (R) 3THA Bl

(D) IRFE (A) STFF 8, ABT HRT (R) G 2

Assertion (A) : 'Right to be informed' is important for a safe and secure life.

Reason (R) : According to this right, the consumer has a right to be protected
against goods and services which are hazardous to life, health
and prosperity.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

2211/(Set : A)



(11) 2211/(Set : A)
[ iy /g S909 99 ]

[ Very Short Answer Type Questions ]

21. TF e ¥ ‘T T5 & el a7 HEl $ e e 3

Explain any three functions of 'Top Level Management' in an organisation.
HAYAT
OR

HHfe (Macro) AR & el @7 gehl H g H|

Explain any three components of Macro Environment.

22, AREROT e § FuRefd & oM ¥ Hel® ol #7 Sareie | 3
Motivation helps to reduce absenteeism in the organisation. Give three
examples.

AYAT
OR

AT’ % H AT B G B el @ QAT H AT B

Explain the term 'Leadership'. Explain any two features of leadership.

2211/(Set : A) P.T.O.



(12) 2211/(Set : A)
23. ‘I T A § fRU T SqAERN d G SAER B IO Hio 3

Explain three consumer rights given in 'Consumer Protection Act.'
SEE|
OR

SRR faehd o fehel i il i SemEd|

State any three features of Personal selling.

24. B8 7 [€gal & HR auie HieY S RIS & Hew 9 TSl S| 3

Explain briefly three points which highlight the importance of Planning.

25. TF H & ol o & MG & A #7 gl F a0 S 3

Describe the three factors that determine the capital structure of a company.

26. LA TN & F1 AWE & ? FREAT GOl B SAELEHN B LR A @ Th B
qo i 1+2

What is meant by working capital ? Discuss two important determinants of
working capital requirements.

2211/(Set : A)



(13) 2211/(Set : A)
[ @ ST 99 |

[ Short Answer Type Questions ]

27. Th UY & ©9 § YS9 H Y [GATAST Hl AT it 4

Discuss the four features of management as a profession.

28. “fFEee it & U aeEs B 9S % FENT BE 3 g el B 9819 § auie Hiveie) 4

"Planning is Beneficial for all." Explain in brief the four benefits of planning as a

function of Management.

YqT

OR

e 3 ‘PEHS B T 9 AR B ? 39S (el diF Al H I P

What is meant by functional structure of an organisation ? Explain any three of

its advantages.

2211/(Set : A) P.T.O.



29.

30.

31.

32.

(14) 2211/(Set
FgRRTsT & e & el grv gl &1 v it

Explain any four points of the importance of Staffing.

e I AT B T el o faQwarett & avie &

What is Supervision and explain three characteristics of it ?

A= qer SMIEe el § HiE v X IaBy|

Explain any four differences between Formal and Informal Organisation.

YqT

OR
AR I TETH & ¢ BIS FIY BN SaEy|

Why is it necessary to delegate Authority ? Explain any four reasons.

aier el & gefad 9 9 I geRl T auie i

Explain any four factors which affect the 'Dividend Decision'.

2211/(Set : A)

: A)



(15) 2211/(Set : A)

OR
forlig werg /@ B 7 fodi wdy & @ Sewm feRaw 242

What is financial management ? Explain two objectives of financial management.

[ S ST U |

[ Long Answer Type Questions ]

33. “U% ITHH & %l GO & 10 Jee 1 STEsds & 277 AR IS 6

"Why is the management essential for successful running of an enterprise" ?
Explain.

YqT
OR

e & fhel & sl &1 avie &I

Explain any six principles of Management.

34. 9 & FNRE Gl (Sources) B A T HRT & auH H 3+3

Explain the merits and limitations of Internal Sources of Recruitment.

2211/(Set : A) P.T.O.



(16) 2211/(Set : A)

OR
‘B G JREOT SIX ‘Bl | W AR @ @7 [QRE & auie it 3+3

Explain three methods of 'On the Job Training' and 'Off the Job Training' each.

35. faque fger g1 & ? fquem frsor & AR ot @ avie & 2+4

What is Marketing Mix ? Explain different elements of marketing mix.

3TeE
OR

s & ‘A’ o il @ avig @i 3+3

Explain the 'Merits' and 'Limitations' of Advertising.

2211/(Set : A)
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o FYF J9T H TV TG Y& V7§ Yeer, J9T B B AT [rE]
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §/9 T 85

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e Te Bl g sravaEdgar & @ G fiar Faw T
FI2)

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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(2) 2211/(Set : B)
o GUETE ST AT To FHT-YA YT Ha9T [rEI UT To % Sl JT-0H T T F8 T
g siie defcys 7ot & IR T Fbdl ST F 9T T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U o7 % IV 37 @ §d 96 GhAlEd FT o [ G97-v4 [ T @& & Gher % ST 59
T § g 4 qar w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instructions :

() T4 9-9F ¥ B 35 U &I FH F9T SA7ard &

This question paper contains 35 questions in all. All questions are

compulsory.
(i) 9T €& 1§ 20 T 1 3% a IEJTS U 8| MRAER 39 S84 & Ia% i)

Question Nos. 1 to 20 are objective type questions of 1 mark each. Answer

these questions as per instructions.

(iii) 97 €& 21 § 26 T 3 @ AW AlY IAUT U ol T YT B IAX AT
50 § 75 & H o

Question Nos. 21 to 26 are very short answer type questions of 3 marks

each. Answer these questions in about 50 to 75 words each.

2211/(Set : B)



(3) 2211/(Set : B)
(iv) 97 G 27 § 32 T 4 3iH a9 A IAF U 51 TA® U7 H II AT 150
g 7§ fifs

Question Nos. 27 to 32 are short answer type questions of 4 marks each.
Answer these questions in about 150 words each.

(v) YU HEM 33 | 35 T 6 FH @ I ITNT UK 1 UAD T BN IAX AT 200
g=at | i)
Question Nos. 33 to 35 are long answer type questions of 6 marks each.
Answer these questions in about 200 words each.

(vi) B 9l | RS fabed Iued 31 UH Ul § | U Had g% of U7 B o

An internal choice is available in some questions. You have to attempt only

one of the given choice in such questions.
(vii) 9T H TH AT B TH T A B

Attempt all parts of the questions together.

[ TGS 597 |
[ Objective Type Questions ]
78 T g -
Choose correct options :
) D H faqoTTR FBd ol 1
(A) Hgfte @iet A (B) Hgfe W& XA ar
(C) awgE I Al (D) | == arl
.............. is called a Marketer.
(A) Satisfaction seeker (B) Satisfier
(C) Seller of Goods (D) Seller of services

2211/(Set : B) P.T.O.



(4) 2211/(Set :

2. fEsE & T F1 B TS Bl
(A) =4 (B) Sard
(©) (A) T (B) A (D) efifaeF
.............. are required for Advertising
(A) Expenditure (B) Efforts
(C) Both (A) and (B) (D) Television
< S fsae & fass oy B
(A) WIS el &l TR
(B) e H F

(C) fafs = Sl &1 ™
(D) IdrE fe § g

.............. is an objection against Advertising.
(A) Disregard for social values

(B) Reduction in price

(C) Knowledge of different products

(D) Improvement in quality of product

4., U T2 7

(A) N TF YeEH HT 2 (B) N TH TRV FHYam Bl

(C) St T @il & B (D) SUEd § B Tl

What is Management ?

(A) What a Manager does ? (B) Which a subordinates does ?
(C) What a Master does ? (D) None of the above

2211/(Set : B)



(5) 2211/(Set : B)
5. ‘AR Herr feeet Qe g ? 1

(A) UsT (B) &l
©) fEm (D) el @t &t
Personal skills are the unique characteristic of what ?
(A) Profession (B) Art
(C) Science (D) None of these
6. T F I TET b B9 A H AT B 7 1
(A) e (B) €Te

(C) gy, FesM & Fgsr (D) |+l & G
Co-ordination is related to which function of Management ?

(A) Planning

(B) Organising

(C) Staffing, Directing and Controlling

(D) All
7. =1 ¥ § ov 5 wR @ et @ Rl s ¥ ? 1
(A) & (B) ™
(C) (A) T (B) A (D) i T
Which of the following types of policies do you recommend ?
(A) Strict (B) Soft
(C) Both (A) and (B) (D) None

2211/(Set : B) P.T.O.



(6) 2211/(Set :
8. ¥ ¥ ¥ H9-1 Geq o 9HY d% Iadl & ¢

(A) SRS (B) FIT=IRE

(©) (A) T (B) & (D) ® T

Which of the following organisation lasts a long time ?
(A) Formal (B) Informal

(C) Both (A) and (B) (D) None of these

9. PR AT (Delegation of Authority) &l TR FM & ?
(A)  BHEEH (B) Fadb=sgee
(C) (A) T (B) &t (D) 99 fquee

What is the basis of Delegation of Authority ?

(A) Centralization (B) Decentralization

(C) Both (A) and (B) (D) Division of Labour
10. A & =7 & | i9-@1 7 & ey ?

(A) o HT AT (B) WA I

(C) et (D) IYHT Gl

Standards should have which of the following properties ?

(A) Worthy to achieve (B) Scalable

(C) Flexible (D) All of the above

2211/(Set : B)



(7) 2211/(Set : B)

11. IO a7 & H-91 & © ° 1
(A) woH (B) f&im
(©) T (D) e
Controlling is which function of management ?
(A) First (B) Second
(C) Third (D) Last
12, e, i el H A 2| 1
(A) STRERET & ghs (B) olenfe srifa
(C) (A) T (B) &Mt (D) Tagah HHAMA & JaT W Vb
.............. is the merit of internal recruitment.
(A) Increase in motivation (B) Industrial Peace
(C) Both (A) and (B) (D) Stops entry of young employee
13. RS o & STasee ol © ¢ 1
(A) qW BT B & U (B) ¥ %9 HH & [T

(C) =6 =l & e & fow (D) | Y B & fC

Why working capital is needed ?

(A) To buy Land (B) To buy building
(C) To pay for Daily work (D) To buy machines
14. =1 & 4 R9 =g duiadl | ot 787 Rean i § 7 1
(A) TR T (B) @he
(C) TR (D) e fafarT

2211/(Set : B) P.T.O.



(8) 2211/(Set :

Which of the following is not included in Current Assets ?

(A) Cash (B) Stock

(C) Debtors (D) Long term investment
15. S =1 § & g Ieme 8 7

(A)  SHHTT (B) i

(C) s TH (D) e 7

Dunlop is an example of which of the following ?

(A) Branding (B) Brand

(C) Brand Name (D) Brand Mark

0% = A % Yigg § I T

Answer one word or in one sentence :

16. ISI A & QU - ffaw)

Write full form of ISI mark.

17. SRR kg &1 HIg gF T farag

State any one feature of personal selling.

18. fasp Hadq ot fret g% fafyr &1 A saEd

State any one method of Sales Promotion.

2211/(Set : B)

B)



(9) 2211/(Set : B)
=it 77t (19 7 20) ¥ & F&7 _7 7 & - Sf¥%eT (A) T FR (R) T # FT{Es
TEHT A7 [T T [l § & 7@ [Awey & 79T B -

The questions below (19 & 20) consists of two statements : Assertion (A) and

Reason (R). Read the statements carefully and choose the correct option given below :

19. SAFHE (A) : GRA BN & AR GRE Siad & T Feweyqe & 1
HRT (R) : 39 HABR & FIAR, ITAERNSAT Bl I a&gell T qarenl & fGgas gen &
AMER & S @A, Sieq AR 79fs & U @aems o
faey -
(A) STEHIT (A) T HRT (R) A € & SR HRT (R), STEHEE (A) & TRl AT B

(B) SIRMHEM (A) g BROT (R) AT G §, QAT B (R), SANHIT (A) B HE e el
2l

(C) SIHN (A) T 8, QBT BRI (R) STHA 2l
(D) SRR (A) ST B, Al BT (R) T B

Assertion (A) : 'Right to be informed' is important for a safe and secure life.

Reason (R) : According to this right, the consumer has a right to be protected
against goods and services which are hazardous to life, health
and prosperity.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

2211/(Set : B) P.T.O.



(10) 2211/(Set : B)
20. JRHE (A) : fospt GO dERel B SUANT STCUEICE [SEhl B SEEl A SN TEhl R
NG HA B T fpar S 2 1

HROT (R) : foept dads qarie STsiear e oiX @i ot & oefag 72 i
% -
(A) ARMHEE (A) T FROT (R) AMT T & R BN (R), MBI (A) & T8 /e 2

(B) I (A) T BRI (R) I G § AP BROT (R), MNHAT (A) HI T e et
2|

(C) SINERN (A) T 8, AfPT IR (R) 3THA Bl

(D) SRR (A) STE © ARBYT &R (R) <4 2

Assertion (A) : Sales Promotion techniques are used to boost short-term sales

and attract customers.

Reason (R) : Sales Promotion techniques do not influence consumer behaviour

and purchase decisions.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is ture.

2211/(Set : B)



(11) 2211/(Set : B)
[ iy /g S909 99 ]

[ Very Short Answer Type Questions ]

21. TF FF & Qo o & MG & A &7 96! & a0 S 3

Describe the three factors that determine the capital structure of a company.

22. FRAMT T & F1 AOEE 2 7 FEAE GO F TETEN B NERET FA A @ gEH B
qo i 1+2

What is meant by working capital ? Discuss two important determinants of
working capital requirements.

23. TF e ¥ ‘T Ts & el a7 HEl B R e 3

Explain any three functions of "Top Level Management' in an organisation.
AYAT
OR

HARE (Macro) ddEXT & el @7 qehl Hl auF &

Explain any three components of Macro Environment.
24. FRASH &l &7 faAeaed & o B 3

Explain three characteristics of Planning.

2211/(Set : B) P.T.O.
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25. HARPROT &6 § STuRAfd & geM # Held® 8| # I&sXe g 3
Motivation helps to reduce absenteeism in the organisation. Give three
examples.

AYAT
OR

A’ A= B ARAT B AT Bl (beel g AT B AR B

Explain the term 'Leadership'. Explain any two features of leadership.

26. ‘ST T I H KU T YA F AT ATER B aUH B 3

Explain three consumer rights given in '‘Consumer Protection Act.'

YqT

OR
FRPTT [a5hT & el 7 AN @l qarsd|

State any three features of Personal selling.
[ @Y S909 97 |

[ Short Answer Type Questions ]

27. ATENS T SRS e § HE Fv <X Sd=a| 4

Explain any four differences between Formal and Informal Organisation.

2211/(Set : B)
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OR
AR FF TS & ¢ BIS FIT BN SaEy

Why is it necessary to delegate Authority ? Explain any four reasons.

28. Y Mol # gdfad H@ a7 FE gCh H aUN B 4

Explain any four factors which affect the 'Dividend Decision'.

STeE
OR

forlig wsrg /@ B 7 fodiw wdy & @ Sewm foRaw 242

What is financial management ? Explain two objectives of financial management.

29. TH U & &9 § YS9 H 7 [GATAsh Hl ATl Hiforg 4

Discuss the four features of management as a profession.

30. “MANH gt & T areEs 317 U9 & MO B & ge arEl & g9eq ¥ auie dif) 4

"Planning is Beneficial for all." Explain in brief the four benefits of planning as a

function of Management.

2211/(Set : B) P.T.O.
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OR

e 3 ‘PEHS 3 ¥ 97 AR B ? 39S bl §iF Al B I P

What is meant by functional structure of an organisation ? Explain any three of

its advantages.

31. MYRRHT & qow & bl & fagall &1 avi ity 4

Explain any four points of the importance of Staffing.

32. T I P AT PR AT el 7 [AQuadrett & aue He 4

What is Supervision and explain three characteristics of it ?

[ € ST U9 |

[ Long Answer Type Questions ]

33. fauue fger g1 & ? e frsor & AR ot @ avie & 2+4

What is Marketing Mix ? Explain different elements of marketing mix.

2211/(Set : B)
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s & ‘@’ ol el @ avig #ifvT 3+3

Explain the 'Merits' and 'Limitations' of Advertising.

34. “U% ITHH B A% o & o0 T 4 SE99% & 77 AT Hivorg| 6

"Why is the management essential for successful running of an enterprise" ?

Explain.

YqT

OR
e & fhel & sl &1 avie &I

Explain any six principles of Management.

35. 9l & STNE Gl (Sources) d A T HRT & auH H 3+3

Explain the merits and limitations of Internal Sources of Recruitment.

2211/(Set : B) P.T.O.
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ST

OR
‘B G JREOT SIX ‘Bl | W AR @ @7 [QRE & auie it 3+3

Explain three methods of 'On the Job Training' and 'Off the Job Training' each.

2211/(Set : B)
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o GUETE ST AT To FHT-YA YT Ha9T [rEI UT To % Sl JT-0H T T F8 T
g siie defcys 7ot & IR T Fbdl ST F 9T T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U o7 % IV 37 @ §d 96 GhAlEd FT o [ G97-v4 [ T @& & Gher % ST 59
T § g 4 qar w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instructions :

() T4 9-9F ¥ B 35 U &I FH F9T SA7ard &

This question paper contains 35 questions in all. All questions are

compulsory.
(i) 9T €& 1§ 20 T 1 3% a IEJTS U 8| MRAER 39 S84 & Ia% i)

Question Nos. 1 to 20 are objective type questions of 1 mark each. Answer

these questions as per instructions.

(iii) 97 €& 21 § 26 T 3 @ AW AlY IAUT U ol T YT B IAX AT
50 § 75 & H o

Question Nos. 21 to 26 are very short answer type questions of 3 marks

each. Answer these questions in about 50 to 75 words each.
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(iv) 97 G 27 § 32 T 4 3iH a9 A IAF U 51 TA® U7 H II AT 150
g 7§ fifs

Question Nos. 27 to 32 are short answer type questions of 4 marks each.
Answer these questions in about 150 words each.

(v) YU HEM 33 | 35 T 6 FH @ I ITNT UK 1 UAD T BN IAX AT 200
g=at | i)
Question Nos. 33 to 35 are long answer type questions of 6 marks each.
Answer these questions in about 200 words each.

(vi) B 9l | RS fabed Iued 31 UH Ul § | U Had g% of U7 B o

An internal choice is available in some questions. You have to attempt only

one of the given choice in such questions.
(vii) 9T H TH AT B TH T A B

Attempt all parts of the questions together.

[ TS 9 |
[ Objective Type Questions ]
7el [A%eq gy -
Choose correct options :
1. TR govg @S- &9 8 7 1
(A) oH (B) f&d=
(C) T (D) sifew
Controlling is which function of management ?
(A) First (B) Second
(C) Third (D) Last

2211/(Set : C) P.T.O.
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4.

5.

(4) 2211/(Set :

.............. i el H A 2

(A)  SARERET F s (B) oMEifs sifd

(C) (A) T (B) &t (D) Tagah HHAMRA & Ja W Vb
.............. is the merit of internal recruitment.

(A) Increase in motivation (B) Industrial Peace

(C) Both (A) and (B) (D) Stops entry of young employee

. AL o I oI enil § 7

(A) 9 H FE & [T (B) W ¥ HA & fo
(C) & @ & N & fg (D) =MW T FW B fw
Why working capital is needed ?

(A) To buy Land (B) To buy building
(C) To pay for Daily work (D) To buy machines

Fre1 4 @ 58 =g duiwdl 9 et 787 e S @ °

() TR T (B) @by

(C) IWR (D) eI fafvaT

Which of the following is not included in Current Assets ?
(A) Cash (B) Stock

(C) Debtors (D) Long term investment
STa 7 § @ e Sere § 7

(A)  TEHIT (B) i

(C) s TH (D) s 7

2211/(Set : C)
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Dunlop is an example of which of the following ?

(A) Branding (B) Brand
(C) Brand Name (D) Brand Mark
6. oo, Hl fuorRdl Fed 2l 1
(A) Hfte e ar (B) Gt YoM & ar
(C) T&E =0 (D) {a = awn

.............. is called a Marketer.

(A) Satisfaction seeker (B) Satisfier
(C) Seller of Goods (D) Seller of services
7. O % R H B AT o 1
(A) =4 (B) HI™
(©) (&) T (B) & (D) fifasT
.............. are required for Advertising.
(A) Expenditure (B) Efforts
(C) Both (A) and (B) (D) Television
8. oo fomToe & foes STET B 1
(A) HEISTS Gl @l SR
B) T T

(C) fafs = Sl &1 ™
(D) IdrE fe § g

2211/(Set : C) P.T.O.
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.............. is an objection against Advertising.
(A) Disregard for social values

(B) Reduction in price

(C) Knowledge of different products

(D) Improvement in quality of product

9. TS FT T ?

(A) N TF YeEH HT 2 (B) N TH STHVEY Y Bl

(C) S TH @Ml HI &l (D) I & | H3 TE

What is Management ?

(A) What a Manager does ? (B) Which a subordinates does ?
(C) What a Master does ? (D) None of the above

10. ‘KR FHIear e [ & ?

(A) TS (B) @&al

(C) fasm (D) fepdll 1 T
Personal skills are the unique characteristic of what ?
(A) Profession (B) Art

(C) Science (D) None of these

11. G99 H1 TG Y699 & 69 B & T 8 7
() freE (B) @A
(C) Py, FesH wd FEEer (D) @ & A

2211/(Set : C)
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Co-ordination is related to which function of Management ?
(A) Planning
(B) Organising

(C) Staffing, Directing and Controlling

(D) All

12. 7 & q oY 59 U @l it 3 ey #a 2 ? 1
(A) T=d (B) ™
(C) (A) T (B) & (D) ®IE T

Which of the following types of policies do you recommend ?

(A) Strict (B) Soft
(C) Both (A) and (B) (D) None
13. ¥ § q F9-T1 T T 9 T Al © 7 1
(A) SR (B) SFIu=ieE
(C) (A) T (B) T (D) HE T
Which of the following organisation lasts a long time ?
(A) Formal (B) Informal
(C) Both (A) and (B) (D) None of these

2211/(Set : C) P.T.O.
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14. AYPHR HAT (Delegation of Authority) I SR FT g7

(A)  BERIET (B) fabetimener
(C) (A) T (B) &M (D) =M faeee

What is the basis of Delegation of Authority ?

(A) Centralization (B) Decentralization
(C) Both (A) and (B) (D) Division of Labour
15. g & =1 & | i9-61 7 & ey ?
(A) 9 H A (B) HIOW A
(©) W=yl (D) TR &

Standards should have which of the following properties ?

(A) Worthy to achieve (B) Scalable

(C) Flexible (D) All of the above
0% = A1 % Yigg § I T
Answer one word or in one sentence :

16. fapg dadq &t fhdl o Ay &1 ™ IaEa|

State any one method of Sales Promotion.

17. ISI ¥ & QU - i

Write full form of ISI mark.

18. ARKFIT fashd &1 P gF T farag

State any one feature of personal selling.

2211/(Set : C)
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=it 77t (19 7 20) ¥ & F&7 _7 7 & - Sf¥%eT (A) T FR (R) T # FT{Es
TEHT A7 [T T [l § & 7@ [Awey & 79T B -

The questions below (19 & 20) consists of two statements : Assertion (A) and

Reason (R). Read the statements carefully and choose the correct option given below :

19. ARFET (A) : [ g9 dadihl @1 SWENT STeIHIcid f9shl @l serdl ad A} AEhl B
AT H & g fopar S R 1
HRO (R) : b G qepii SUHRT FaeR AR GU8 o) &l Jeiad el Bl
AT -
(A) ARFEE (A) T FROT (R) AT T3 & 3R R (R), MBI (A) & T8 /e 2
(B) ARMHYT (A) T FR (R) AW G & ARBT BN (R), SAHBSE (A) @l Tl ARAT &k
2|
(C) SINERN (A) T 8, AfPT IR (R) 3THA Bl
(D) SRR (A) STE B ARBYT &1 (R) 94 2

Assertion (A) : Sales Promotion techniques are used to boost short-term sales

and attract customers.

Reason (R) : Sales Promotion techniques do not influence consumer behaviour
and purchase decisions.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is ture.
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20. HAREHE (A) : A BN N ARBR G sfed & g Tew@yel B 1

HROT (R) : 0 ABR & AJHR, IUAERNSA Bl I q&GAl T Al & s G &l
AR & S @A, Sied X TE & U gae ¢l
fwey -
(A) ARHET (A) T BROT (R) AMT TF & AR BN (R), STHHAT (A) I G& AR 2
(B) SIS (A) g BRI (R) Ml 9 8, QAlpd BR (R), SIHBAT (A) P G&l A Tl
2

(C) SR (A) T 8, AfPT IR (R) 3THA Bl

(D) IRFE (A) STFF 8, ABT HRT (R) G 2

Assertion (A) : 'Right to be informed' is important for a safe and secure life.

Reason (R) : According to this right, the consumer has a right to be protected
against goods and services which are hazardous to life, health
and prosperity.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

2211/(Set : C)
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[ 1T /g S909 99 ]

[ Very Short Answer Type Questions ]

21. ‘I G AR H R U Susedr & T ARBRI B aUie it 3

Explain three consumer rights given in 'Consumer Protection Act.'

YqT

OR

T foshd & el a7 @l @l Sarsd|

State any three features of Personal selling.

22. TF FF & ol o & MG & a &7 9l & a0 S 3
Describe the three factors that determine the capital structure of a company.

23. FRAMT T & F1 AOEE 2 ? FEAT GO Hl TETHEN B NERET B A @ gEH B
o i 1+2

What is meant by working capital ? Discuss two important determinants of

working capital requirements.

24, ARl & fhel &7 FERI #1 | auie i 3

Explain, in brief, any three types of Plans.

2211/(Set : C) P.T.O.
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25. T Teq ¥ ‘Saig Y’ & fheal @7 Bl Bl A B 3

Explain any three functions of 'Top Level Management' in an organisation.

3TeE

OR

TARE (Macro) AR & el 7 gehi & aUi B

Explain any three components of Macro Environment.

26. HARTROT e 7 STURART & geM # Held® 8l d &Y &) 3

Motivation helps to reduce absenteeism in the organisation. Give three
examples.

3TeE

OR

AT’ % H AT B G B el @ QAT H AT B

Explain the term 'Leadership'. Explain any two features of leadership.

2211/(Set : C)
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[ @Y S909 97 |

[ Short Answer Type Questions ]

27. TR ST b AR B aT [bel @7 Aqdretl &1 o H1 4

What is Supervision and explain three characteristics of it ?

28. NYERE T SFII=IRE e~ 3 g FY ¥ §aEy| 4

Explain any four differences between Formal and Informal Organisation.

YqT

OR

AR I TETH &8 ¢ BIS FIY BN SaEy

Why is it necessary to delegate Authority ? Explain any four reasons.

29. Y Mol # gAfad @ a7 FE gCH H aUN BT 4

Explain any four factors which affect the 'Dividend Decision'.

2211/(Set : C) P.T.O.
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gar

OR

forlia werg 7 B 7 fodie weg & @ Sewm fofam 242

What is financial management ? Explain two objectives of financial management.

30. TF U & ©9 § YS9 H 7 [GATAST Hl AT Hiforg 4

Discuss the four features of management as a profession.

31. “FManH gft & T arveEs 317 U9 & MO & & ge arEl & 989 ¥ guie s 4

"Planning is Beneficial for all." Explain in brief the four benefits of planning as a

function of Management.

STeE

OR

G % ‘BT o’ @ FT M B ? 3H% el d Al Bl Swo i)

What is meant by functional structure of an organisation ? Explain any three of

its advantages.

2211/(Set : C)
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32. FgRETHO & e & el aI¢ [gal &1 avie i 4

33.

34.

Explain any four points of the importance of Staffing.

[ < SH U |

[ Long Answer Type Questions ]

AT B SN Gl (Sources) & @ qaT GHIRT & g HI 3+3

Explain the merits and limitations of Internal Sources of Recruitment.

3TeE
OR

‘B G FREOT SN ‘B § W URETT @ @7 [ARE @ auie it 3+3

Explain three methods of 'On the Job Training' and 'Off the Job Training' each.

faqur fiysror @ & 7 fouoe e & Rl aal @ avie &R} 244

What is Marketing Mix ? Explain different elements of marketing mix.

YqT
OR

s & ‘@’ o digrel’ @ avi @i 3+3

Explain the 'Merits' and 'Limitations' of Advertising.

2211/(Set : C) P.T.O.
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35. “U% IUTHH & A% oK & o1 Y- 4 SE99% & 77 Al Hivorg) 6

"Why is the management essential for successful running of an enterprise" ?

Explain.

YqT

OR

e & fhel & sl &1 avie &Ik

Explain any six principles of Management.

2211/(Set : C)
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o GUETE ST AT To FHT-YA YT Ha9T [rEI UT To % Sl JT-0H T T F8 T
g siie defcys 7ot & IR T Fbdl ST F 9T T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U o7 % IV 37 @ §d 96 GhAlEd FT o [ G97-v4 [ T @& & Gher % ST 59
T § g 4 qar w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instructions :

() T4 9-9F ¥ B 35 U &I FH F9T SA7ard &

This question paper contains 35 questions in all. All questions are

compulsory.
(i) 9T €& 1§ 20 T 1 3% a IEJTS U 8| MRAER 39 S84 & Ia% i)

Question Nos. 1 to 20 are objective type questions of 1 mark each. Answer

these questions as per instructions.

(iii) 97 €& 21 § 26 T 3 @ AW AlY IAUT U ol T YT B IAX AT
50 § 75 & H o

Question Nos. 21 to 26 are very short answer type questions of 3 marks

each. Answer these questions in about 50 to 75 words each.
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(iv) 97 G 27 § 32 T 4 3iH a9 A IAF U 51 TA® U7 H II AT 150
g 7§ fifs

Question Nos. 27 to 32 are short answer type questions of 4 marks each.
Answer these questions in about 150 words each.

(v) YU HEM 33 | 35 T 6 FH @ I ITNT UK 1 UAD T BN IAX AT 200
g=at | i)
Question Nos. 33 to 35 are long answer type questions of 6 marks each.
Answer these questions in about 200 words each.

(vi) B 9l | RS fabed Iued 31 UH Ul § | U Had g% of U7 B o

An internal choice is available in some questions. You have to attempt only

one of the given choice in such questions.
(vii) 9T H TH AT B TH T A B

Attempt all parts of the questions together.

[ TGS 97 ]
[ Objective Type Questions ]
7 T g -
Choose correct options :
1. G999 & gy U6y & 9 e & g g ? 1
(A) e (B) &Tew

(C) gy, FesM & FEsr (D) |+l & G
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Co-ordination is related to which function of Management ?
(A) Planning
(B) Organising
(C) Staffing, Directing and Controlling
(D) Al

2. = § 9 oy fhe yeR @ Sifeat i Ry #a € ?

(A) | (B) T

(©) (&) T (B) & (D) ®& T

Which of the following types of policies do you recommend ?
(A) Strict (B) Soft

(C) Both (A) and (B) (D) None

3. 9 § ¥ B9-91 Geq O 9HY d% Iadl § 7

(A) o= (B) FIT=IRE

(©) (A) T (B) aFH (D) ®& T

Which of the following organisation lasts a long time ?
(A) Formal (B) Informal

(C) Both (A) and (B) (D) None of these

4. JARHR FAXT (Delegation of Authority) Hl TR FM 8 ?
(A)  BERIGET (B) fabsiraaner
(C) (A) T (B) &M (D) =M faeee

2211/(Set : D)



(5) 2211/(Set : D)
What is the basis of Delegation of Authority ?

(A) Centralization (B) Decentralization
(C) Both (A) and (B) (D) Division of Labour
5.y § f=1 § & di-E1 o7 8 e ? 1
(A) U H A (B) O I
(C) afrryget (D) IwTd &ft
Standards should have which of the following properties ?
(A) Worthy to achieve (B) Scalable
(C) Flexible (D) All of the above
6. [T gaeg & H-|1 F © ? 1
(A) T (B) f&im
(C) e (D) diftm
Controlling is which function of management ?
(A) First (B) Second
(C) Third (D) Last
Te e, iR it & A B 1
() SREReT 7 g (B) e sifd
(C) (A) Tl (B) &l (D) agas HHAMRAT & 99 W I
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.............. is the merit of internal recruitment.
(A) Increase in motivation (B) Industrial Peace

(C) Both (A) and (B) (D) Stops entry of young employee

8. FMT Toil A MaeaF o & ¢
(A) W H B & [T (B) e %Y & & [T
(C) 3% = & TN & o (D) #F FF & & T

Why working capital is needed ?
(A) To buy Land (B) To buy building
(C) To pay for Daily work (D) To buy machines

9. =1 & | %8 a1 dufdl § A 787 R o & 7
(A) ¥Hs T (B) @Y
(C) WX (D) e R

Which of the following is not included in Current Assets ?
(A) Cash (B) Stock

(C) Debtors (D) Long term investment

10. =9q9 - & O fohaehr e 8 7
(A) R (B) e
(C) s - (D) ®iE A

Dunlop is an example of which of the following ?
(A) Branding (B) Brand
(C) Brand Name (D) Brand Mark

2211/(Set : D)
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11, oo, P fqqerTeBal wed &l 1
(A) HIRE @io drel (B) HIRE W& & aren
(C) T&YE F=A (D) {a = awn

.............. is called a Marketer.

(A) Satisfaction seeker (B) Satisfier
(C) Seller of Goods (D) Seller of services
12. fO609 & AT ... P BT SETE ol 1
(A) == (B)
(©) (A) T (B) A (D) eeifes
.............. are required for Advertising.
(A) Expenditure (B) Efforts
(C) Both (A) and (B) (D) Television
13, oo e & faes oMy B 1
(A) TS qedi &l R
B) T FH

(C) Tl Sl &1 oM

(D) IdrE fe § g

.............. is an objection against Advertising.
(A) Disregard for social values

(B) Reduction in price

(C) Knowledge of different products

(D) Improvement in quality of product
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14. Y~ 997 8 7

(A) T T% Y§UH BT ol (B) S U STHM®T HIA &

(C) N TH @Ml HI &l (D) IGAH H | HE T

What is Management ?

(A) What a Manager does ? (B) Which a subordinates does ?

(C) What a Master does ? (D) None of the above
15. ‘@R Here e @R & 7

(&) T (B) el

(C) f@m (D) et @t wT&t

Personal skills are the unique characteristic of what ?

(A) Profession (B) Art

(C) Science (D) None of these

0% = A % Yigg § I T

Answer one word or in one sentence :

16. ISIaM & QU M fafaw

Write full form of ISI mark.

17. SRR fahg & HIg gF T farag

State any one feature of personal selling.

18. fashg dad &t fhdl o fafy &1 ™ IaEa|

State any one method of Sales Promotion.
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=it 77t (19 7 20) ¥ & F&7 _7 7 & - Sf¥%eT (A) T FR (R) T # FT{Es
TEHT A7 [T T [l § & 7@ [Awey & 79T B -

The questions below (19 & 20) consists of two statements : Assertion (A) and

Reason (R). Read the statements carefully and choose the correct option given below :

19. R (A) : QA 8N & AfER GREA Sied & Y Tew@qt 2 1
HROT (R) : 0 ABR & AJHR, IUHEKRNSA Bl 3T qEGAl T Al & s G ol
AR & o @A, sieq IR The & e gams &
@
(A) ARHET (A) T BROT (R) AMT T & AR BN (R), SHHAT (A) I T& ARSAT 2

(B) S (A) g HRY (R) &Ml G 8, Qb BRI (R), SIHBAT (A) P T8l A Tl
2l

(C) SIHN (A) T 8, QBT BRI (R) STHA 2l
(D) IRFE (A) STFF 8, ABT BRI (R) G 2

Assertion (A) : 'Right to be informed' is important for a safe and secure life.

Reason (R) : According to this right, the consumer has a right to be protected
against goods and services which are hazardous to life, health
and prosperity.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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20. JRHE (A) : fospt GO dERel B SUANT STCUEICE [SEhl B SEEl A SN TEhl R
NG HA B T fpar S 2 1

HROT (R) : fospt dads qarie STsiiear aer oiX @i Mofat & oefag 2 i

fweT

(A) STHTT (A) T HRT (R) I T & 3 PRV (R), STHAT (A) H T&l AR B

(B) ST (A) T BRI (R) I G § AP BROT (R), T0HAT (A) HI T e et
B

(C) SIHN (A) T 8, AfBT BRI (R) STHA 2l

(D) SRR (A) STE © ARBYT &1 (R) O 2

Assertion (A) : Sales Promotion techniques are used to boost short-term sales

and attract customers.

Reason (R) : Sales Promotion techniques do not influence consumer behaviour

and purchase decisions.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (4).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is ture.
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[ iy /g S909 99 ]

[ Very Short Answer Type Questions ]

21. AREROT oA § FuRefd & TN ¥ He® ol d7 Sareiel | 3
Motivation helps to reduce absenteeism in the organisation. Give three
examples.

SEE|
OR

AT’ % H AT B G B el @ QAT H AT B

Explain the term 'Leadership'. Explain any two features of leadership.

22. ‘ST T STRAEH H RU T ST & T AER B AU B 3

Explain three consumer rights given in 'Consumer Protection Act.'
AYAT
OR

T 95T & el 7 AN @l qarsd|

State any three features of Personal selling.
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23. TF A & ol ofd I (MEiRd 0 a0 &7 9eh B ao Hiv 3

Describe the three factors that determine the capital structure of a company.

24, IS AT & [Brel @7 aXon & 9 g 3

Name any three steps involved in planning process.

25. FEMT Toil B F AE 2§ ? FEAA Toil B TELARd B ERT B A & g @
Ui i 142

What is meant by working capital ? Discuss two important determinants of
working capital requirements.

26. T G 7 ‘el U’ & e a7 wE B A H 3
Explain any three functions of "Top Level Management' in an organisation.
AYAT

OR

THe (Macro) AT & el @7 gehl B o B

Explain any three components of Macro Environment.
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[ @ ST 99 |

[ Short Answer Type Questions ]

27. FYRH & qowd & [l & fagell &1 avi ity 4

Explain any four points of the importance of Staffing.

28. T J& P AT B AT fheal o7 [AQuarett & aue H 4

What is Supervision and explain three characteristics of it ?

29. NS T SFITARSG e~ & Hig FY <Y SdE 4

Explain any four differences between Formal and Informal Organisation.
AYAT

OR
AR FF TETH &8 ¢ BIS FIT BN SaEy|

Why is it necessary to delegate Authority ? Explain any four reasons.
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30. Y ol @ gfad H a7 FIv gCR B aUN B 4

Explain any four factors which affect the 'Dividend Decision'.
HAYAT
OR

forlig wsrg 7 B 7 fodi wdy & @ Sewm feRaw 242

What is financial management ? Explain two objectives of financial management.

31. % U & @9 H TS 7 QAT Bl AT HiforT| 4

Discuss the four features of management as a profession.

32. “fFEee aft & o aeeRs B 95 % RN B $ g a1 989 § guie Hiveie) 4

"Planning is Beneficial for all." Explain in brief the four benefits of planning as a

function of Management.
AYAT

OR

e % ‘BT o’ @ FT M B ? 3H% el Al Al Bl Swoe HivTg)

What is meant by functional structure of an organisation ? Explain any three of

its advantages.
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[ € ST0F 999 ]

[ Long Answer Type Questions ]

33. fauue fger g1 & ? e frsor & AR ot @ avie & 2+4

What is Marketing Mix ? Explain different elements of marketing mix.

3TeE
OR

s & ‘@’ o digrel’ @ avi ST 3+3

Explain the 'Merits' and 'Limitations' of Advertising.

34. “U% IUHH & A% GO & 10 JSvee 1 STEsd®d & 27 ARAT IS 6

"Why is the management essential for successful running of an enterprise" ?
Explain.

YqT
OR

e & fhel & sl &1 avie &I

Explain any six principles of Management.
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35. 9l & ARE Gl (Sources) d A T HHRT & auH H1 3+3

Explain the merits and limitations of Internal Sources of Recruitment.

e
OR
‘B T UREOT SR ‘B ¥ W URET # JiTdfT et & aue Sk 3+3

Explain three methods of 'On the Job Training' and 'Off the Job Training' each.
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